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Question Number : 1 Question Id : 3982821705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many countries are currently members of the United Nations?

(1) 190
(2) 191
(3) 192
(4) 193
Tﬁé}éﬁﬂﬁ]ﬁk-ﬁnﬂ:‘\s&ij
190 (1)
191(2)
192 (3)
193 (4)
Options :
1. %1
2. % 2
3.%3
4.9 4

Question Number : 2 Question Id : 3982821706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A gold ring 15 58.33% pure, its purity can be alternatively shown as
(l_] 24 carat
(2) 22 carat
(3) 14 carat
(4) 18 carat

= s a L o e £ L3 Sl A ol %5833 (H A S
bl 824 (1)
bl3822(2)
bl 14 (3)
bl 4 18 (4)

Options :
1. % 1
2. % 2
3.4 3
4. % 4

Question Number : 3 Question Id : 3982821707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the followng 1s not a member of the Quad group of nations?
(1) France

(2) USA

(3) Australia

(4) Japan
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Options :
1.9 1
2. % 2

3.%3



Question Number : 4 Question Id : 3982821708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following lens are used 1 the microscope?
(1) Convex lens
(2) Concave lens
(3) Curved lens
(4) Cataract lens
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Options :

1.9 1
2. %2
3.%3
4, % 4

Question Number : 5 Question Id : 3982821709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The Nobel Prize was awarded for the first time 1n

(1) 1901

(2) 1911

(3) 1921

(4) 1931

LELE L b o e sl Jasi

1901 (1)
1911 (2)
1921 (3)
1931 (4)

Options:

1.9 1

2. % 2

3.%3

4. % 4

Question Number : 6 Question Id : 3982821710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

*Channel Tunnel” 1s an undersea rail tunnel that links
(1) England and Ireland

(2) England and France

(3) France and Germany

(4) Germany and Englan{i
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Options :

1. %1

2.2



Question Number : 7 Question Id : 3982821711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One nautical mile 1s equal to
(1) 2.812 meters
(2) 2.000 meters
(3) 2.450 meters
(4) 1.852 meters

o HE S e g plians S
#2812(1)
2,000 (2)
S 2,450 (3)
A1852(4)
Options :
1. %1
2. % 2
3.%3
4.¥ 4

Question Number : 8 Question Id : 3982821712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Copyright day 1s celebrated on
(1) 3 April

(2) 26 April

(3) 23 April

(4) 28 April

e L QRS y 8

A3
5126 )
Gl 23 (3)
Gk 28 (4)

Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 9 Question Id : 3982821713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Currently, how many countries are the members of the North Atlantic Treaty
Organization (NATO)?

(1)20
(2)24
(3)32
(4)44
fup Sllas K < (NATO) o Y Jf o 5 ST 45 3 o5
20 (1)
24(2)
2(3)
44 (4)
Options :
1. %1

2. % 2



3.3

4. % 4

Question Number : 10 Question Id : 3982821714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Buddhism 1s the world’s fourth-largest religion, It 1s believed to have onigmatedin
(1) Cluna

(2) India

(3) Japan

(4) Thailand

e S S LA e e e S L by

(1)
S (2)
Ji=(3)
WAL (4)
Options :
1. %1
2.9 2
3.%3
4, % 4

Question Number : 11 Question Id : 3982821715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which city 1s called the Silicon Valley of India?
1) Kolkata

2) Bangalore
3) Chennai

4) Hyderabad

o 8 s i S gt 6 8
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255 (2)

2(0)

Al s (4

Options :

1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 12 Question Id : 3982821716 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which 1s the first electronic stock market in the world?

(1) National Association of Securities Dealers Automated Quotation System (NASDAQ)
(2) New York Stock Exchange (NYSE)

(3) Korea Stock Exchange (KOSPI)

(4) Bombay Stock Exchange (BSE)

Juu,sq)msmﬂﬁs.m;m;m
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Options :
1.9 1
2. %2

3.%3



Question Number : 13 Question Id : 3982821717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who is the youngest Billionaire in India?
(1) Nikhil Kamath

(2) Nithin Kamath

(3) Divyank Turakhia

(4) Ankit Bhaty
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Options :

1.9 1
2. % 2
3.%3
4. % 4

Question Number : 14 Question Id : 3982821718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The word Satyameva jayate m the state emblem adopted by the government of India have been
taken from which Upanishad?

(1) Mantrika Upanishad

(2) Muktika Upanishad

(3) Mundaka Upanishad

(4) Maitrayini Upanishad

§ LA s a8 S ) e s Bl e (LS Ry 03 )€ R amy ) S 00 e
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Options :

1. % 1

2. %2

3.¥3

4. % 4

Question Number : 15 Question Id : 3982821719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where are the Bermuda Islands located?

(1) Caribbean Island
(2) North Atlantic Ocean
(3) Gulf of Mexico
(4) The Mediterranean Sea
P @y M S n Mgy
2352 2 (1)
eyt ()
fadia g (3)
1920054 (4)
Options :
1. % 1
2.9 2

3.%3



Question Number : 16 Question Id : 3982821720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the next one m the senes:
A2 DB, Gl4. J20.7?

(1) M24
(2) M26
(3)N24
(4) N26

S A ) (e g

A2.D8, Gl4. 120, ?

M24 (1)

M26 (2)

N24 (3)

N26 (4)

Options :

1. % 1
2.9 2
3.%3
4. % 4

Question Number : 17 Question Id : 3982821721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A container contamns 40 litres of nulk. From this contamer 4 liters of milk was taken and replaced
by water. This proeess was repeated for two times. How much milk 15 now contained 1 the
container?

(1) 26.34litres

(2) 27.36 litres
(3) 28 litres
(4) 29.16 litres

W s 3 e g LSV g s (S g a4 o K s ligaeg A0 e S S
foarp il ju ).ui:S\j

A2634(1)
F427.36 (2)
- AH28(3)
2916 (4)

Options :

1. %1

2. %2

3.%3

4. 4

Question Number : 18 Question Id : 3982821722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



How many straight lines are there in this figure?

(1) 9

(2) 48

3) 15

4) 12

T S A S e gl

9(1)
48 (2)
15 (3)
12 (4)

Options :

1. %1

2. % 2

3.%3

4. 4

Question Number : 19 Question Id : 3982821723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A, B. C and D are playing Ludo. A, C and B.D are partners. D 1s to the right of C. If C 15 facing
East then B 1s facing which direction?

(1) North

(2) South

(3) East

(4) West

Sy 8C Sl oDk i SCaup 2 2B, D g A, Cox =y JsS $4D )9 A.B.C
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Options :

1. % 1

2.9 2

3.%3

4. % 4

Question Number : 20 Question Id : 3982821724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In a certain code

786" means Study very hard

*958” means Hard work pays

*645" means Study and work

Which of the following 1s the code for *very?

(1) 5
2)

67

(4) 8

o 35S U gt S

Study very hard = b 5'786'

Hard work pays = <4 5'958'

~ Study and work = ks S '645'

SISl S e e J.-."-‘r._'ﬁ,_—_ﬁé'wm‘

5(1)

6(2)

7(3)

8(4)

Lad =t

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 21 Question Id : 3982821725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘A’ 15 the wife of ‘B’ and ‘B’ 1s the brother of *C’. *C" 1s the son of ‘D’ who 1s father of‘E’.
Then How 1s ‘D’ related to ‘A7
(1) Sister
(2) Aunt
(3) Brother
(4) Father-in-Law

fogeils wAETD )&f-:j'C'%‘%'ﬂ’E'EI'C"h—',‘%'S'D' ~'B S _Jj',-_—,"A'-j)“é ‘B’
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Options :

Question Number : 22 Question Id : 3982821726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If ‘A’ means +. ‘B’ means —. ‘C’ means ~ and ‘D’ means X. then find the correct answer of the

tollowing:
18412C6D2BS5S
(1) 15
(2) 17
(3) 25
(4) 27
e i Bz P e X ot €D g+ ke80T ol KB o e SIAY #
S
1I8A12C6D2BS5
15(1)
17(2)
25 (3)
27(4)
Options :
1. %1
2.42
3. %3
4, % 4

Question Number : 23 Question Id : 3982821727 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seismography: Earthquake :: Extensometer: ?
(1) Landslides

(2) Strams

(3) Resistances

(4) Volcanoes

Options:

Question Number : 24 Question Id : 3982821728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A virtual 1mage larger than the object can be produced by
(1) Convex Mirror

(2) Concave Lens

(3) Concave Mirror

(4) Plane Mirror

Options :

1. %1

2.



Question Number : 25 Question Id : 3982821729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A clock gains 5 seconds for every 3 minutes. If the clock started working at 07:00 A M. in the
morning. then what will be the time m the wrong clock at 04:00 P.M. on the same day?

(1) 03:45PM.

(2) 04:10PM.

(3) 04:15P.M.

(4) 05:00 PM.

Pl Fed S 98USAS GHE 207:00 s K1, o oS Joala B0 § G 3E S S C3
Pl gy S o s 5 B 2 04:00

~03:45:(1)
2 04:10 6= (2)
= 04:15 5 (3)
~05:00 2= (4)

Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 26 Question Id : 3982821730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How many times are the hands of a clock at right angles in a full day?
(1) 24
(2) 48
(3) 22
(4) 44

®p g o o) el S 38 e 0 e S
24(1)
8 (2

LS

4
2
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B ko

(2)
(3)
@

Options :

1. %1

Question Number : 27 Question Id : 3982821731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The first day of the year 2023 was Sunday. What will be the last day of the year 20267
(1) Thursday

(2) Tuesday

(3) Sunday

(4) Saturday

f8 g LS (2 (5 ATIS 2026 Juas g il (58 D 12023 J

< g (1)
S (2)
Mf‘u (3)
% (4)
Options :
1.9 1
2. %2



Question Number : 28 Question Id : 3982821732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What will happen if diameter of artery 1s reduced?
(1) Blood Pressure will fall

(2) Blood pressure will increase

(3) Blood pressure will remain same

(4) Blood will coagulate

Options :

Question Number : 29 Question Id : 3982821733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following in a logical order :

1. Euphoria 2. Happiness 3. Ambivalence 4. Ecstasy 5. Pleasure
(1) 142,53

(2) 3.2.5.1.4
(3) 21,345
(4) 2.3.4,1.5

9 o e i
205 i) 4 i pad 3 i o D st ]
1:di 24543 (1)

3:2:5¢1¢4 (2)
2:1:3445 (3)
234145 (4)

Options:

1. % 1

2.9 2

3.% 3

4. % 4

Question Number : 30 Question Id : 3982821734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A man walks 5 km toward south and then turns to the right. After walking 3 km he turns to the left
and walks 5 km. Now in which direction 15 he from the starting place?

(1) West

(2) South-West

(3) South

(4) North-East

J.udj_u,ﬁ:nJ JJ.u:}lSE ].1'\_".. mx_i)hd.l.uﬁ.‘u'l ubH)lSﬁk—i)}ﬂé—lj—‘\Eﬂ:llIJ.lll
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Options:

1. %1
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Question Shuffling Allowed :
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Question Number : 31 Question Id : 3982821735 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

39828242
2

Online
Mandatory
30

30

30

Yes

0

1
39828266
Yes

null

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following represents the absolute zero temperature?

ez e
(2)-100° C
(3) -273.15°C
(4) 100°C
f oS A (S a2 jhea (gl b 8 s (e o e
ceo(l)
C °100-(2)
C°273.15-(3)
C°100 (4)
Options :
1. %1
2. %2
3.¥3
4, % 4

Question Number : 32 Question Id : 3982821736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which Port in India 1s set to be the Green Hydrogen Hub Port?
(1) Kolkata Port

(2) Cochin Port

(3) Mumbaz Port

(4) Tuticorin Port

S M5 S g i e g S 0 0 e ()8 (e (e
Soxslg(l)

Options :



4.9 4

Question Number : 33 Question Id : 3982821737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which State Government 1ssued guidelines for Elimmation of Corporal Punishment at schools in
".[}"l_rl

(1) Tamil Nadu

(2) Telangana

(3) Rajasthan

(4) Bihar
TS ahshila) o S 0a S e e gl gl 2024 JCugfa Ay S
4 (1)
85 ()
il 5 (3)
Jll." (4)
Options :
1.9 1
2. % 2
3.% 3
4, % 4

Question Number : 34 Question Id : 3982821738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



S Vyjayalakshmi 1s famous for which of the following sports?
(1) Cricket
(2) Carrom
(3) Chess

(4) Hockey
P opeia o SRS S e e R e
SLK(1)
X5 (
i had (3)
k(4
Options :
1. %1
2. % 2
3.3
4. % 4

Question Number : 35 Question Id : 3982821739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The first wicket keeper to record 300 dismussals in T20 ericketis
(1) Kamran Akmal

(2) Dinesh Karthik

(3) Quinton De Kock

(4) M S Dhoni

o SOy Vly e )T S 300 e S ST0
._m ;le'..‘f.( )
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g ,u'l (4
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Options :

1. %1

2. % 2

3.%3



4.9 4

Question Number : 36 Question Id : 3982821740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which monument has been declared as the Eighth Wonder of the World 1 20237
(1) Angkor Wat

(2) Taj Mahal

(3) Great Pyramud of Giza

(4) Great Wall of China

Tl mpe gl S L 8 JRM S e 2023
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Options :

1.9 1
2. % 2
3.%3
4, % 4

Question Number : 37 Question Id : 3982821741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which country will host the 2026 Winter Olympic Games?
(1) France

(2) South Korea
(3) China
(4) Ttaly

P ﬁfLJMé)ﬂgMﬂ_ﬁ]ﬂ_rﬁsz{]ZﬁJ‘i“l JE

A1)

Fe(2)

20)

o (4)

Options:

1. % 1
2.% 2
3.%3
4. ¥ 4

Question Number : 38 Question Id : 3982821742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The theme of the Ministry of Culture tableau that secured the 1st prize at the Republic Day
Celebration Parade 2024 1s

(1) India: Unity in Diversity

(2) India: Mother of Democracy

(3) Vibrant India

(4) Cultural Harmony

o fpaplddaiic 1)}..:“}:')54-"*&*1#&2[}24a-uh‘-u)ﬂ-'éwﬁ-ﬂée.ﬁ
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Options :
1. % 1
2.¥ 2

3.



4. % 4

Question Number : 39 Question Id : 3982821743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Former Indian Revenue officer has been re-elected as India’s nominee to the
Vienna based International Narcotics Control Board.

(1) Jai Shankar

(2) Jagjt Pavadia

(3) Kamala Devi Harris

(4) Ishani Duttagupta

gt o S8y g S TS 3 ol Y1 (o g S el g ) (gt

LS e gt g S gl 2 S

£ 24 (1)

Wi ks 2)

v G S (3)

G A (4

Options :

1. %1
2.9 2
3.% 3
4, % 4

Question Number : 40 Question Id : 3982821744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which public sector enterprise was granted Navratna status?

(1) SCI
(2) HAL
(3) BEL
(4) IREDA
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Where did GITEX global 2023, the world's largest technology and startup show take place?
(1) Dubai

(2) Abu Dhabi

(3) Sharjah

(4) Ajman
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Who has been honoured with France’s highest civilian award the ‘Chevalier de la Legion d
Honneur’ in 20247

(1) Anurag Singh Thakur

(2) Jayaram Ramesh

(3) Shashi Tharoor

(4) Manmohan Singh
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Flipkart has launched its own Unified Payments Interface services in collaboration with

(1) State Bank of India
(2) Axis Bank

(3) Canara Bank

(4) Indian Overseas Bank
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In 2024, which organization collaborated with the Election Commission of India to provide
authoritative information on voting processes?
(1) Microsoft

(2) Google
(3) Facebook
(4) Tata Consultancy Services
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Where was the first ‘Child- Friendly Police Station’ inaugurated?
(1) Odisha

(2) Manipur

(3) Rajasthan

(4) Maharashtra

gt S 108 1Sl ol S0 Bl L

<585 (1)
JE(2)
Jetal ) (3)
A= (4)
Options:
1. %1
2. % 2
3.%3
4. ¥ 4

Question Number : 46 Question Id : 3982821750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Who is the founder member of “Hasdeo Aranya Bachao Sangharsh Samithi™?
(1) Alok Shukla

(2) M C Mehta

(3) Kankri Devi

(4) Medha Patkar
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Who 1s the first woman Vice Chancellor of Aligarh University?
(1) Nilofer Khan

(2) Santishree

(3) Najma Akhtar

(4) Naima Khatoon
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Where was the ‘India’s First Digital National Museum of Epigraphy’ inaugurated?
(1) Pune

(2) Shillong

(3) Shimla

(4) Hyderabad
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Which of the following is the closest to the meaning of “Silviculture™?
(1) Cultivation of Silk Worms

(2) Cultivation of Textile Crops

(3) Forest Development

(4) Cultivation of Timber
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The Gautam Buddha Wildhife Sanctuary i1s located in which of the following States?
(1) Bihar and Jharkhand

(2) Bihar and Uttar Pradesh

(3) Uttar Pradesh and Jharkhand

(4) West Bengal and Jharkhand
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Where 1s the Central Marine Fishertes Research Institute located?
(1) Mumbai

(2) Vishakhapatnam

(3) Koch

(4) Goa
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Which of the following Monsoons account for most of the ramfall i India?
(1) North East Monsoon

(2) South West Monsoon

(3) South East Monsoon

(4) East Asia Monsoon
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Which Indian city 1s known as the Manchester of South India?

(1) Coimbatore
(2) Bengaluru
(3) Chennai
(4) Mysore
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Which country has become the member of NATO 1n 20247
(1) Ukraine

(2) Sweden

(3) North Macedonia

(4) Austria
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Which village in Telangana has been recognized as the Best Tourism Village 2023 by the
Ministry of Tourism?

(1) Ganneruvaram

(2) Pembarthi

(3) Kandakurthi

(4) Gangadevipalli
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Which Indian athlete has won a medal at the 2023 World Athleties Championships?
(1) Neeraj Chopra

(2) Kishore Jena

(3) Amoj Jacob

(4) Muhammed Anas
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Recently. the Reserve Bank of India (RBI) has imposed restrictions on which payment
bank?

(1) Airtel Payment Bank

(2) Paytm Payment Bank

(3) Jio Payment Bank

(4) India Post Payment Bank
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Recently. the Government of India has declared which airport as an “International Airport’
i 2023?

(1) Surat Arport

(2) Shimla Aurport

(3) Gorakhpur Asrport

(4) Jothat Airport
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Krishna Raja Sagara Dam. 15 a gravity dam. located in which State?
(1) Karnataka

(2) Kerala

(3) Odisha

(4) Maharashtra
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Which airline launched India’s first Airbus A350 aircraft as part of its fleet?

(1) Vistara
(2) Spicelet
(3) IndiGo
(4) AirIndia
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‘Protection against Double Jeopardy” is guaranteed under which provision of Indian Constitution?

(1) Artiele 19 (1)

(2) Article 19

(3) Article 2
1

e2l
(4) Article 20 (2)
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Bye-law making power granted to the Executive by the Legislature is called
(1) Delegated legislation

(2) Colourable legislation

(3) Adminstrative legislation

(4) Supreme legislation
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Who s responsible for the introduction of Public Inferest Litigation in India?
(1) Justice P.N. Bhagwati

(2) Tustice M.N. Venkatachaliah

(3) Justice AM. Ahmad:

(4) Tustice Gajendragadkar

';',_.-I )|-MJLJ_95,—1,£EPUJL“-ELMUQSMLG "J.n‘_HJL..jJ.u
S .ﬂu-'..r-u(l)

I\J '35.1.3 Ol s ( )
sl al o | sl (3)
52 ;mf s (4)
Options:
1.9 1

2. %2



3.% 3

4. % 4

Question Number : 64 Question Id : 3982821768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who propounded the doctrine Rule of Law'?
(1) Lord Blackstone

(2) Lord Denning

(3) A.V.Dicey

(4) Henry Maine
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Theft of another person’s writings/ideas and passing them off as one’s own 1s known as
(1) Plagiarism

(2) Burglary

(3) Piracy

(4) Pilferage
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What 1s known as the charter of a company?
(1) Memorandum of association
(2) Bye-laws
(3) Articles of Association
(4) Prospectus
¢ lalalf udi € fjs < 0
il syl AT ) zata (1)
wi Ju(2)
Qnabias Sl gl (3)
Bl 3 (4)

Options :

1.9 1



Question Number : 67 Question Id : 3982821771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 15 the maximum number of partners permissible for a partnership firm in India?
(1) 100

(2) 75

(3) 50

(4) 25
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An all women committee headed by retired Justice Gita Mittal was constituted by the Supreme
Court to examune 1ssues relating to
(1) Offences agamnst women

(2) Manipur erisis

(3) Covid

(4) Women employment
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Which 1s the oldest Code of Law in India?
(1) Narada smuriti

(2) Manu smriti

(3) Veda smriti

(4) Parashar smriti
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Meanmng of the Latin maxim “Ubi remidium ibi jus’ 1s
(1) where there 1s remedy there is right

(2) where there 15 no right there is remedy

(3) where there 15 night there 15 remedy

(4) where there 1s no remedy there 1s right
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The first Indian elected to the Parliament of Great Britain was  ?
(1) BR Ambedkar

(2) Mahatma Gandhi

(3) Jawaharlal Nehru

(4) Dadabhai Naorojt
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Under the Indian Law, Right to Information 1s available to
(1) Citizens of India

(2) Residents of India

(3) Non-residents of India

(4) Residents and non-residents of India
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Complete the Latin maxim “Actus non _ nisi mens sit rea”.
(1) facit reum
(2) reum nisi
(3) mis1 reum
(4) reum facit
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Damages awarded for tortious acts are in the formof
(1) Unlquidated damages

(2) Liqudated damages
(3) Fine
(

4) Injunction
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15 a transfer of ownership m a property. for a price that 1s partly paid and partly due.

(1) Bailment
(2) Sale
(3) Exchange of goods
(4) Agreement to sell
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International Labor Orgamization 1s one of the oldest organizations. established in the year .

(1) 1950

(2) 1945

(3) 1919

(4) 1909

Sl Sl S e e gl )y s U T d Jils

1950 (1)
1945 (2)
1919 (3)
1909 (4)

Options :

1. %1

2. % 2

3.3

4, % 4

Question Number : 77 Question Id : 3982821781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which writ can be 1ssued when the appointment 1s contrary to the statutory provisions?
(1) Mandamus

(2) Certiorari

(3) Quo warranto

(4) Prohibition
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Ryland Vs, Fletcher case was decided in which year?

(1) 1865
(2) 1868
(3) 1836
(4) 1886
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A borrows Rs. 20.000/- from B and keeps his golden watch as security for the payment of the debt.
Itiscalledas

(1) lien

(2) hypothecation

(3) pledge

(4) guarantee
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Digital signatures are created and verified by using
(H Programs
(2) Graphical coding
(3) HIML
(4) Cryptography
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A testamentary document 1s denoted as
(1) Agreement

(2) Wil

(3) Contract

(4) Intestate
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When was Mediation Act enacted i India?
(1) 16% October 2023

(2) 14% September 2023

(3) 14% December 2023

(4) 14% November 2023
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Mubarat under Mushim personal law means
(1) Divorce by mutual consent of husband and wife
(2) Divoree by husband only

(3) Divoree by wife only

(4) Divorce by wife by paying certain amount
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Quasi Contracts are based on the principle of
(1) Equity and Fairness

(2) Strict Liabihity

(3) Absolute Liability

(4) International Law
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Khatri v. State of Bihar 1s a landmark case relatng to
(1) Victims of rape

(2) Victims of acid attack

(3) Persons under wrongful detention

(4) Right to compensation
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The offences that can be compromised by the parties are referredtoas
(1) Cognizable offences

(2) Compoundable offences

(3) Bailable offences

(4) Non-cognizable offences
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In which Article of the Constitution. it 15 mentioned that India means ‘India that 1s Bharat s a
Union of States™?
(1) Article 1

(2) Article 3
(3) Article 2
(4) Article 4
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Where was the first Family Court established in India?
(1) Rajasthan

(2) Maharashtra

(3) Tamul Nadu

(4) Andhra Pradesh
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The term “taking cognizance™ under the provisions of Criminal Procedure Code. 1973means

(1) Srartmc a trial

(2) Completing preliminary requirements for starting a Criminal trial
(3) Taking notice of the matter judicially

(4) Anadministrative action to demde if criminal trial 1s required
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Which of the following 1s not entitled for protection as an Intellectual Property?
(1) Local unique foodstuff

(2) New process of a making a medicine

(3) Logo of a company

(4) Mathematical Formula
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The Commussion recommended the constitution of a permanent Inter-State Council
for coordmnating among States and the Union.

(1) Kothar

(2) Sarkania

(3) Mandal

(4) Kumara Pillai
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International Crinunal Court was established in the year

(1) 1998

(2) 2003

(3) 2004

(4) 2001
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Full form of UNCITRAL 1s .

(1) United Nations Commission on International Trade Law

(2) United Nations Committee on International Trade Law

(3) Umted Nations Convention on International Trade Law
(4) United Nations Co-operation on International Trade Law
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amounts to contempt of court,
(1) deliberate non-compliance of the court order

(2) deliberate execution of the court order

(3) intentional compliance of the court order

(4) reasonable critique of the court order
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Which of the following 1s a non-compoundable offence?
(1) Mischief by killing an animal

(2) Hurt

(3) Murder

(4) Crimmal trespass
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When a person 1s disqualified for enrolment as an advocate?
(1) When a case 1s filed by his wife for domestic violence
(2) When he 1s facing charges for murder

(3) When he 1s convicted 1n a case relating to untouchability
(4) When there s a litigation relating to his property
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A person commits Bigamy, if he

(1) Marries again when his first wife 1s dead

(2) Marries again when his first divorced wife 15 alive

(3) Marries again when his first wife is alive

(4) Mamtains extra marital relation with a woman, besides his wife
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A agrees to sell his car to B for one lakh rupees. Before delivery of car, A met with an accident and
the car got completely destroyed. The contract gets discharged by

(1) Quasi Contract

(2) Doctrine of Frustration

(3) Breach of Contract

(4) Doctrine of Estoppel
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Liberhan Commission was associated with
(1) Godhra Train Carnage

(2) Centre-State Relations

(3) Tax Reforms

(4) Babri Masjid Demolition
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What type of cases may be brought before Lok Adalat?
(1) Heimnous crimes

(2) Robbery cases

(3) Motor vehicle accident cases

(4) All ntentional deaths
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The nomination of Anglo-Indians to the Lok Sabha and Legislative Assemblies has been
abolished by which Constitutional Amendment Act?

(1) o5

(2) 100%

(3) 104

(4) 105%
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A rule under International Law which binds all states and does not have any exceptions 1s

(1) Rule of strict hiability
(2) Jus cogens rule

(3) Rule of absolute Liability
(4) Rule of Fault Liability
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Probation of Offenders Act 1s applicableto .
(1) Convicted persons

(2) Under trial prisoners

(3) Arrested persons

(4) Persons arrested for prevention of crime
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Which of the following is not a part of BRICS?
(1) Brazil

(2) India
(3) China
(4) Sri Lanka
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Surrogate mother means one who is

(1) Carrying her own baby in the womb
(2) Lends her womb to another

(3) Carrying a female baby 1n the womb
(4) Carrying a male baby 1 the womb
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The Theory of Laissez Faire was developed by

(1) Marques
(2) Adam Smuth
(3) Marshall
(4) Laski
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Betting on sportsisa
(1) Crime against property
(2) Organized enime

(3) Crime against state

(4) Crime against person
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Who 15 the present Central Vigilance Commuissioner of India?
(1) Praveen Kumar Srivastava

(2) Arvinda Kumar

(3) ASRajeev

(4) Praveen Sood
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Which 1s the newly recognized offence under the Indian PenalCode?
(1) Grievous Hurt

(2) Extortion

(3) Acid Attack

(

4) Culpable homicide
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Which Commission among the following has been abolished?
(1) Finance Commission

(2) Competition Commission

(3) Electricity Regulatory Commission

(4) Planning Commission
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Read the following passage and answer the questions from 111 to 115

The Constitution of India came into force on January 26. 1950. It 1s a comprehensive document.
Apart from dealing with the structure of Government, the Constitution makes detailedprovisions
for the rights of citizens and other persons in a number of entrenched provisions and for the
principles to be followed by the State in the governance of the country, labelled as “Directive
Principles of State Policy”. All public authorities — legislative, administrative and judicial derive
their powers directly or indirectly from the Constitution which 1n turn derive its authority from the
people. The freedoms under Article 19 are those great and basic rights which are recognized as the
natural rights inherent in the status of a citizen. At the same time. none of thesefreedoms are
absolute but subject to reasonable restrictions specified under sub-clauses (2) to (6) of
Article 19 of Indian Constitution. The Sub-committee on Fundamental Rights constituted
by the Constituent Assembly suggested two types of Fundamental Rights — one which can be
enforced i the Courts of law and the other which because of their different nature cannot be
enforced in the law Courts. Later on, however, the former were put under the head ‘Fundamental
Rights’ as Part IIT and the latter were put separately i Part IV of the Constitution under the heading
‘Directive Principles of State Policy. The Articles included i Part IV of the Constitution (Articles
36 to 51) contamn certain Directives which are the guidelnes for the Government to lead the
country. Article 37 provides that the ‘provisions contained 1n this part (1) shall not be enforceable
by any Court, but the principles therein laid down are nevertheless (1) fundamental m the
governance of the country and 1t shall be the duty of the state to apply these principles in making
laws. Article 51A mmposes the fundamental duties on every citizen of India Since the duties are
mmposed upon the citizens and not upon the States, legislation 1s necessary for their implementation.
Fundamental duties can’t be enforced by writs.
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Which of the following 1s the real source of the Constitution of India?
(1) The people

(2) Parliament

(3) Supreme Court

(4) Constituent Assembly
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Which part of the Indian Constitution 1s fundamental i the governance of the country?
(1) Fundamental Rights

(2) Durective Principles of State Policy

(3) Fundamental Duties

(4) Centre-State Relations
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Whether Fundamental Rights and Fundamental duties can be enforced by imvoking writ
jurisdiction?

(1) Both Fundamental Rights and Fundamental Duties are enforceable

(2) Only Fundamental Rights are enforceable

(3) Only Fundamental Duties are enforceable

(4) Fundamental Duties are to be followed by the State
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All Judicial Authorities directly or indirectly derive their powers from
(1) Constitution of India

(2) Legislature

(3) Government

(4) Constituent Assembly
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Which of the following statements 15 True?

(1) Fundamental rights are absolute

(2) Some fundamental rights are absolute and some are not

(3) Fundamental rights are not absolute, they have reasonable restrictions
(4) Fundamental rights are unenforceable
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Question Numbers : (116 to 120)

Read the following passage and answer the questions from 116 to 120

The word ‘environment’ 1s derived from the French word ‘environner’. which means ‘to encircle’ or
to surround. It 1s a combination of living and non-living things and their mutual interaction with cach
other which leads to an ecosystem. The term ‘pollution’ refers to unfavourable alteration to our
surroundings. wholly or largely as a by-product of human’s action through direct and indirect effects
of changes in energy pattern. chemical and physical construction and abundance of organisms.
Industrialization. poverty. population, explosion, urbanization, over-exploitation of resources, etc..
are some of the factors which have contributed to environmental deterioration. The most common
air pollutants i urban areas melude Sulphur dioxide, Nitrogen oxide, Carbon monoxide, etc. Apart
from this. the gases discharged from refrigerators. air conditioners etc.. are responsible for depletion
of the Ozone layer. Deforestation. release of toxie substances on the land, throwing unhygienic waste
on earth. dumping of garbage. biomedical waste ete.. causes land pollution. The Ministry of
Environment. Forest and Climate Change 1s the nodal agency of environmental protection m the
administrative structure of the Central Government for planning. promotion, coordination and
overseeing the implementation of India’s environmental and forestry policies and programmes. It
was the Bhopal Gas Tragedy which necessitated the Government of India to enact a comprehensive
environmental legislation, including rules relating to storing, handling and use of hazardous waste.
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Question Number : 116 Question Id : 3982821822 Question Type : MCQ Option Shuffling : No
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1s the nodal agency for protection of environment and promotion of
environment policies in India.

(1) Pollution Control Board

(2) State Government

(3) Central Government

(4) The Ministry of Environment, Forest and Climate Change
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The gases discharged from air conditioners and refrigerators resultsin
(1) Depletion of mitrogen layer

(2) Water pollution

(3) Depletion of ozone layer

(4) Land pollution
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What made 1t necessary for the Government of India to enact a comprehensive environmental
legislation?

(1) Environmental Deterioration

(2) Industnalization

(3) Ministry of Environment. Forest and Climate Change

(4) Bhopal Gas Tragedy
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Which of the following has not contributed to environmental degradation?
(1) Unemployment

(2) Industrialization

(3) Urbamzation

(4) Deforestation
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is a combination of living and non-living things and their mutual mteraction with
each other.
(1) Environmental Legislation
(2) Land Pollution
(3) Ecosystem
(4) Environmental deterioration
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